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O E224 IR (SIS, HY? )
10,000,002 10,000
SOIEEE OIAEE TMPIIAY 200,000 110,000 90,000
401 A8 2 2 CHY 200,000 110,000 90,000
01 Alt 200,000 110,000 90,000
O BE J|-0i4 2IE A6BH OIARE &
MSI| A 100,000,002 100,000
O UfE B BIT 10354 OAZE HM D)
Ared 100,000,002 100,000
SOECEE XIS MAIS 76,000 50,000 26,000
401 A8 L 20HY| 76,000 50,000 26,000
01 Alt 76,000 50,000 26,000
O B4t E&-XIY BT 128N XHEMT
At 20,000, 0002 20,000
O S 91 BIS 1058 Xt EMTA
3,000,002 3,000
O e 42 5= NISH A SHTA
4,000,000% 4,000
O 9l 228 2|E UEH I SMTAF
40,000,0002 40,000
O R4 PE-ET 2|E BSH X SHTAF
9,000,002 9,000
2C S0EC2 BHDIA 60,000 50,000 10,000
401 A& HI L 20HY| 60,000 50,000 10,000
o1 Alt 60,000 50,000 10,000
O 2= S0EEZ EHDIA
60,000,000 60,000
SOEZZ T2 AlRIREA 10,000 10,000
401 A8 2 2 CH| 10,000 10,000
o1 Alt 10,000 10,000
O =0i= 0HE T2 Al2IREAS(100HE
=) 10,000,002 10,000
SR =2 FH) 40,000 220,000 180,000
201 2er2 ] 10,000 10,000 0
2 ZZ2H| 10,000 10,000 0
O MEXY RX24 10,000,002 10,000
206 T2 6| 10,000 10,000
o1 HEH| 10,000 10,000
O Ssih =2FE IR
2,500,00080 17442 10,000
401 Al EHIZ S THY| 20,000 20,000
o1 Alt 20,000 20,000
O S S2F8I(HHIXR)
20,000,002 20,000
0 BUHAS 40,000 40,000 0
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SA AL AL
FH: Tz Aldae]

&2l SHEER T2RNEs EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 40,000 40,000
01 Al&H| 40,000 40,000
O 2k SHEXZ ASY g 32 3248
A 40,000,000& 40,000
STAIES(LE10HA) FIIHM A2 8 20,000 20,000 0
401 Al HIZ S OHbI 20,000 20,000
01 AlZ2H| 20,000 20,000
O SBAILS(LE10HL) FIIEEE 83
20,000,000& 20,000
sHEEZ =1 ¥ 1,050,000 150,000 900,000
SHEZRZ E2EET AHY 1,050,000 150,000 900,000
401 AIZHIYL S HY 1,050,000 150,000 900,000
01 Al&H| 1,050,000 150,000 900,000
O &8 28 sk 21558 SHEZZA}
200,000,000 200,000
O 2t I&5~-E8 sk 2005 SR SA
500,000,000 500,000
O 2ttt =5 SOHETZ SHELISA
100,000,000 100,000
O 28 8458 sUHEEZE 01sd EXEIDA
250,000,000 250,000
o120l etd =2 106,000 20,000 86,000
< 43,000
= 63,000
Hel0lI2S7Y e 106,000 20,000 86,000
= 43,000
= 63,000
020l E5+9 |Xl2el 20,000 20,000 0
401 AlEHIZ S 0HbI 20,000 20,000
01 Al&H| 20,000 20,000
O 0Rl0I257Y SASFA (IHE M,
e, BEXE ) 20,000,000 20,000
HElol 2579 HEArE (SHI) (HEALY) 86,000 0 86,000
< 43,000
[Ea 43,000
401 Al HIZL S 0HYI 86,000 0 86,000
& 43,000
= 43,000
01 Al&H| 86,000 0 86,000
O Hglol 2579 HE ALY
86,000,000& 86,000
= 43,000
Ea 43,000
SADHE 5,889,177 6,512,090 A652,913




2A:

- T Al

M SADHY
el SAITHAANS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
) 2,638,000
=S 439,500
s 2,781,677
THEANEE 2 81,760 90,090 A8,330
THEAEE =Al2c 21,960 28,900 6,940
201 et 3| 21,960 21,600 360
01 At22t2l] 1,560 1,200 360
O tign 2= At 22| e =8
130,000& * 122 1,560
2 35234l 20,400 20,400 0
O 33g= % MAI(2+ 8)
1,700,0002 122 20,400
cHCHEAE 2F 19,800 21,190 1,390
201 fer=2 3| 19,800 19,270 530
01 At 2|l 19,800 19,270 530
O Z2e/H= Yot 5 S84
15,000, 0002 15,000
O 2HEARS BE+Y
100,000 x 12 +43] 4,800
SAHEEHEHMA(PIS) S FA2e 40,000 40,000
201 eer23| 40,000 40,000
02 S3=gHl 40,000 40,000
O SAIHEHEHA(PIS) =22
20,000,000& 20,000
O RS EESRAAE(KRS) SAI2el
20,000,000 20,000
THEAIE A 1,150,000 3,050,000 1,900,000
THEANE FAE2-AE 120,000 400,000 280,000
401 Al HIZ 2018 120,000 400,000 280,000
01 Al&H| 120,000 400,000 280,000
O ZAHEE=Z FUl(2A=FH|, OtA2HN R
o, B7EL ) 120,000,000 120,000
THEANE ZI0IEY EX & A=0LY 200,000 200,000
401 Al HIZ R 0HbI 200,000 200,000
01 AlZ8| 200,000 200,000
O HII0IEY EX L A2
200,000,000 200,000
HEEZ LAY 300,000 300,000 0
401 Al HIZL 201 300,000 300,000
01 Al&HI 300,000 300,000
F3IX~DE2HIE 2 ZHEEZ HE(
2 aHl) 300,000,000 300,000
FSN-ERAEZ 2 ZHECZZ HEASE 130,000 500,000 A370,000
401 Al HIZ S OHbI 130,000 500,000 A370,000
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2A:

X XH -
o=

- T Al

AR

Rl ZAEAIEAS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 130,000 500,000 /370,000
O ZED-LLBBR 2 2HETR HE &
AEAH S| 130,000,000 130,000
g Z2cHE WA E9 400,000 500,000 100,000
401 Al HIZ S OHbI 400,000 500,000 100,000
01 A28l 400,000 500,000 100,000
O &5 Z&cIHE WLl E9
400,000,000 * 11 2 400,000
CAITHA AL 4,286,100 2,983,000 1,303,100
= 2,638,000
=S 439,500
s 1,208,600
SN =LAS (Z/2E) 4,286,100 2,983,000 1,303,100
[ 2,638,000
= 439,500
[Ea 1,208,600
101 21A4H| 115,200 120,758 A5,558
04 JIZtN22 XS+ 115,200 120,758 Ab,558
O ZTAIMMXHHE HEHE JI=23
42,000,000 42,000
O ZAIMEXAHE 2CIUI0IH JI2s
60,000,000 60,000
O 4U=2g20128€3)
800,000 * 12 9,600
O TAITHAXIZME D222 X 22/ 04|
3,600,000& 3,600
201 Ler23 | 50,400 30,400 20,000
s 18,000
s 3,000
s 29,400
01 AtR2te|Hl 17,400 17,400 0
O «et=Zd| 15,000,000& 15,000
O 828 2ME & == MXHI
2,400,000 2,400
02 S3=4gl 3,000 3,000 0
O ZAIMMXZEEH S52= £ HAl
3,000,000 3,000
03 A2 I 30,000 10,000 20,000
O SAITHMXIRHIE A
1,000,000 302 30,000
= 18,000
=S 3,000
s 9,000
301 2= 4,000 4,000
11 dALEEIXIE S 4,000 4,000
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SA AL AL
F: TADNY

el SAITHAANS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O ZANguS & dAIEAL AKX
4,000,000& 4,000
401 AIZHIX R0 4,086,500 2,817,842 1,268,658
[ 2,620,000
= 436,500
s 1,030,000
01 Al&H| 3,986,500 2,817,842 1,168,658
O ZAIMd=E A 3,986,500,000& 3,986,500
= 2,560,000
< 426,500
= 1,000,000
02 Zeltl 100,000 0 100,000
O HWAIY A=3SAt
100,000,000 100,000
[ 60,000
S 10,000
= 30,000
405 KHoHF S| 30,000 10,000 20,000
01 ML ESFSHI 30,000 10,000 20,000
O ZAIMMXIHEE AR HI17Y
30,000,000 30,000
2T EA 341,317 389,000 A\47,683
=2 HAI X 36,451 32,000 4,451
201 2= 6,451 2,000 4,451
02 S52g4l 6.451 2,000 4,451
O s+% 2ctel & FXl2eldl
186,700« 12& 2,241
O HIAAIL S A cltl
267,500 x 122 3,210
O =A&d0= 34| I 28 332 &
MIAl 1,000,000& 1,000
401 Al HIZL S 0HYI 30,000 30,000
01 Al&HI 30,000 30,000
O =2 XF AAI
22,000,000 22,000
O =2 X& AHAH
8,000,000 8,000
et AT S HEREAY 304,866 304,866
401 AIEHIZ SR OHYI 304,866 304,866
01 Al&HI 304,866 304,866
O 2ok AEg 2t
304,865,510& 304,866
Y425 11,988,086 9,112,272 2,875,814
= 800,000
= 3,024,810
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FA HEEZAID
B =oiAmeiYs)
Celr sHIIgtxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 8,163,276
sgolgtxy 1,798,000 1,998,000 A200,000
S8 472 sgII8 IHIAE 1,708,000 0 1,708,000
401 AIZHIX 20HH 1,708,000 0 1,708,000
01 AlZ28| 1,700,000 0 1,700,000
O &8s 135,000
- 38 gl 2 JHISA
60,000,000 60,000
- 38 3N27 B2 JHISA
35,000,000& 35,000
- &5 BF17 =2 FHIEAM
40,000,000 40,000
O 2tg 160,000
- 2 XNS0te s2EESA
30,000,000& 30,000
- 2 REH EF JHISA
20,000,000& 20,000
- BN FWIT SREIBA
20,000,000 20,000
- 2 S =2 EEISA
35,000,000& 35,000
- 2 AT S REEA
55,000,000 55,000
O s 125,000
- OIS 5H0IE SREFTA
15,000,000& 15,000
- U8 F80te s2EESA
40,000,000 40,000
- UY S4I0tE 842 FUISA
70,000,000 70,000
O sutH 115,000
- St g S+ JHISA
60,000,000 60,000
- B4t 2X0tS =2 FHISA
55,000,000 55,000
O ot 135,000
- 2 WS0tS === ZHISA
50,000,000& 50,000
- o SHOS =2 ZHISA
35,000,000& 35,000
- OrF A0tE S22 JUISA
20,000,000 20,000
- o2 SHEOIS Bi=== ZHISAL
30,000,000& 30,000
O z=so 100,000
-34S 8517 2 HISA
45,000,000 45,000
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A AL Al
B =oiAmeiYs)
Celr sHIIgtxd EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
- 3 25027 842 IUIBA
55,000,000 55,000
O zgEH 155,000
- &3 SAFOE =2 JHISA
15,000,000 15,000
- 8% US0I2 a2 HUISA
20,000,000& 20,000
- &8E =202 i JHISA
25,000,000 25,000
- &E Z4012 =2 IS A
20,000,000& 20,000
- 8% (OIS a2 HUISA
15,000,000 15,000
- 38 d¥17 22 ZUHIBA
30,000,000& 30,000
- &3 Y9302 =2 JHISA
30,000,000 30,000
O |x4d 65,000
- 7 327 SZ2EEBA
15,000,000 15,000
- S 28 =2 EdISA
50,000,000& 50,000
O S4tH 110,000
- 24 FE02 =2 EdISA
55,000,000 55,000
- S24F U022 JHIS A
55,000,000& 55,000
O 3&H 110,000
- 3|8l GA0lE S2EESA
60,000,000 60,000
- 3|& Hel0r2 =2 JHISA
50,000,000 50,000
O fI8 =2 S=2=7(1001SH)
50,000,000& 50,000
O fI8 sti+2 S2=27(101=5H)
140,000, 000& 140,000
O 31T AASAG 2t A2 T4
300,000,000 300,000
03 Al CHYI 8,000 0 8,000
O 8H A7E 0|8 ZJHIAIY A2
Hl 8,000,000& 8,000
EA B2 EIRE FHAIE 60,000 60,000 0
401 AIEHIZ20HYI 60,000 60,000
01 Al&Hl 60,000 60,000
O EAl Sliz=2 EIXNE ES8AIY
60,000,000 60,000
SHMAD|BE FHIAIY OI2EX 24| 30,000 30,000 0




A AL Al
B =oiAmeiYs)
Celr sHIIgtxd EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
401 AIEBIZ20HbI 30,000 30,000
01 Al&Hl 30,000 30,000
O =ZMADIBE FHIAIY OI2E X 24|
30,000,000& 30,000
SSMAD|BHEH| 2,277,500 1,871,500 406,000
= 900,000
= 1,377,500
=clAld Rzl 316,500 214,500 102,000
201 B2 AL| 40,500 38,500 2,000
01 ArR22ltl 33,000 31,000 2,000
O Lt=ZH| 23,000
- 22 =TT E MjotEAe|(neh) s
=== 7,000,000& 7,000
- AFE USTZE XMO|OHM22(0Y)
== 4,000,000& 4,000
- UM BB E o 4014 ®I|etE2tel(
Heh) tegasa2 4,000,000 4,000
- 24 S 2 MIjorE22(ne) O
Mz 4,000,000& 4,000
- &8s 2 A4F 2 8 HMI|HMAL|(HY)
a2 4,000,000& 4,000
O =ZIAIEEH| RAE L UB=2H|
10,000,000 10,000
02 2224l 7,500 7,500 0
O 2323 2 HA(HI & 2E23)
7,500,000& 7,500
401 A& B 20HY| 276,000 176,000 100,000
01 Al&HI 276,000 176,000 100,000
O #elME FXNEx(Ma=X, S=H, 2l
=&, Hg2d) 170,000,000& 170,000
O sHMADIBIAIE (2], s S 228
)22 30,000,000 30,000
O M=Kl HUMI Y| (2IH4)
66,000,000 66,000
O M=Kl =833 SX22l(6IML)
10,000,000& 10,000
M=K, LM &= HMAHAMS 88,000 88,000 0
401 AIEHIZL20ib] 88,000 88,000
01 Al&HI 88,000 88,000
O M=Xl, XM FSHHAS (M=K, &
ZH 100HEH) 88,000,000& 88,000
& 2™ XIotes FEEEA EY 100,000 100,000
401 A& B 20HY| 100,000 100,000
01 Al&HI 100,000 100,000
O 23 Xots JSTAL EY
100,000,000& 100,000
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FA AL Al
M sEIdHYs
Rl ST BHE EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
o HEM AMZ2el S2lAE HESAL(Z/HE 496,000 150,000 346,000
= 320,000
= 176,000
401 AlZHIZ S 0HbI 496,000 150,000 346,000
= 320,000
[Ea 176,000
01 AlIZHI 450,000 140,000 310,000
O &8 ZEHM Al22el 2lAlE HE=At
o 450,000,000& 450,000
S 283,200
T 166,800
02 Zeltl 41,000 5,000 36,000
O Zeld 41,000,000 41,000
= 32,800
= 8,200
03 Al 2 THHI 5,000 5,000 0
O 20l 5,000,000 5,000
=S 4,000
s 1,000
2 SET AlZ2te] SelAE HESAS (E/8E 997,000 375,000 622,000
& 500,000
= 497,000
401 Al HIZL 201 997,000 375,000 622,000
= 500,000
o 497,000
01 AlZH| 927,000 340,000 587,000
O e M Al 2el f=clAl2 JHEsAL
& 927,000,000 927,000
=S 444,000
s 483,000
02 22/l 57,000 30,000 27,000
O 2l 57,000,000 57,000
< 45,600
s 11,400
03 Al THHI 13,000 5,000 8,000
O 20l 13,000,000 13,000
= 10,400
o 2,600
4 SHSEH Al S2lAE HESAISE(Z/HE) 100,000 0 100,000
(HEAY)
< 80,000
[ias 20,000
401 Al HIZL 201 100,000 0 100,000




FA HEEZAID
3 sHFy=Iqt
Rl ST BHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 80,000
s 20,000
01 Al&H| 100,000 0 100,000
O E4t SOHFH Azl «=2lA& 2=+
Ared 100,000,000& 100,000
= 80,000
Ea 20,000
M=Kl BN AE 8 &9 180,000 180,000
401 Al HIZ R 0HbI 180,000 180,000
01 AlZ8| 180,000 180,000
O TN+ BgUXAE =& SHH|
60,000,0002! 60,000
O DABTAX BIAUHAHE 28 B8]
60,000,000& 60,000
O MSM=X HIdUXAE =8 SSH|
60,000,000& 60,000
BH==OH & AL 192,500 1,764,711 1,572,211
[ 50,000
Ea 142,500
2 7XS% 130,000 130,000 0
401 Al HIZL 201 130,000 130,000
01 Al&H| 130,000 130,000
O &2 XS5 A 130,000,000 130,000
S elX+ ARSI AN (/B EH (HEANY) 62,500 0 62,500
= 50,000
[Ea 12,500
401 AlZHIZ S OHYI 62,500 0 62,500
=S 50,000
s 12,500
01 AlZ8| 62,500 0 62,500
O 8I& TRINT AR 2N H A
62,500,000 62,500
< 50,000
s 12,500
SESH 3,937,145 2,019,461 1,917,684
= 800,000
Ea 3,137,145
8 QUX T NESELHLAL(Z/IETE-1EH) 1,928,957 1,369,461 569,496
401 AIEHIX 20HH 1,928,957 1,369,461 569,496
01 A28l 1,927,917 1,264,000 663,917
O BB SUXT NELBLIHLAI
1,927,917,000& 1,927,917
03 A& CHYI 1,040 5,461 N4,421
O 20dl 1,040,000 1,040

_23_




FA HEEZAID

B =oiAmeiYs)

ool mERIY (crel @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ot HIS X7 KB+ HLAI (2/2SHE-12] 1,008, 183 250,000 758, 188
)

401 AIZHIZ SO 1,008,188 250,000 758,188
01 Al&H| 989,132 235,000 754,132
O et HIsX+ XHE22 LAY
989, 132,000 989,132
02 Zeltl 15,426 5,000 10,426
O 2l 15,426,000 15,426
03 Al 20HHI 3,630 10,000 26,370
O 20dl 3,630,000 3,630
ZHE MRS ES EIIEAY 1,000,000 0 1,000,000
= 800,000
Ea 200,000
401 AIEHIX R0 1,000,000 0 1,000,000
= 800,000
o 200,000
01 AlZ2H| 1,000,000 0 1,000,000
O 2 UK F 55 2L AE
1,000,000,000& 1,000,000
= 800,000
Ea 200,000
sXolgtxd 2,999,341 1,200,000 1,799,341
= 1,512,310
o 1,487,031
AR ALY (Z/DSTE-1EA) 1,200,000 600,000 600,000
401 AIEHIX R0 1,200,000 600,000 600,000
01 A28l 1,200,000 600,000 600,000
O I3 A==2 SEEAlL
1,200,000,000& 1,200,000
8 QX T U7E IS (/HE) 1,236,841 500,000 736,841
[ 1,028,560
T 208,281
401 AlEHIZL S0 1,236,841 500,000 736,841
= 1,028,560
= 208,281
01 Al&H| 1,170,904 455,000 715,904
O & 3&XF U+ XNH2IAL
1,170,904,000& 1,170,904
= 971,854
o 199,050
02 2/l 60,741 40,000 20,741
O Zeld 60,741,000& 60,741
[ 52,237
T 8,504
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FA HEEZAID
3 sHFy=Ist
Cel: sXDIgtxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A& S CHYI 5,1% 5,000 196
O 20bl 5,196,000& 5,1%
= 4,469
o 27
& SHEXT U7E ZREC(AIZMNE)AS (=/HE 500,000 100,000 400,000
)
== 430,000
o 70,000
401 AIEHIZ R 0HYI 500,000 100,000 400,000
< 430,000
= 70,000
01 Al&H| 455,000 95,000 360,000
O ¥& sEX7 UHRIXE(ALHE)
Ared 455,000,000& 455,000
= 391,300
Ea 63,700
02 Zeltl 40,000 0 40,000
O 2l 40,000,000 40,000
== 34,400
o 5,600
03 Al 20HHI 5,000 5,000 0
O AIZ20HHI 5,000,000& 5,000
= 4,300
= 700
CHE DJisiXl 7 & SR Fel (AERE)A (/D& 62,500 0 62,500
(@A)
s 53,750
s 8,750
401 AIEHIZ SR HYI 62,500 0 62,500
[ 53,750
Ea 8,750
01 Al&HI 62,500 0 62,500
O UE Itk =& X E2IA
62,500,000 62,500
= 53,750
o 8,750
ISR 72 168,600 188,600 0
X A2 RAI2+ 158,600 158,600 0
201 fer= 3| 38,600 38,600 0
02 S3=gHl 38,600 38,600 0
O 3323 € Al 3,216,666% «12& 38,600
401 Al HIZL S 0HYI 120,000 120,000 0
01 Al&HI 120,000 120,000 0
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FA HEEZAID
3 sgFy=Iqt
&Rl RS RAEs (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O A= RXNE=HI 100,000,000 100,000
O &2 RAEs 20,000,000& 20,000
gJlet 3ol 625,000 100,000 525,000
s 562,500
s 62,500
O HEXT 2|8 A (/D E) 625,000 100,000 525,000
< 562,500
Ea 62,500
401 Al HIZL S 0HYI 625,000 100,000 525,000
== 562,500
= 62,500
01 Al&H| 600,000 85,000 515,000
O UY g&EX7 &I[8 A
600,000,000& 600,000
= 540,000
[Ea 60,000
02 Zeltl 20,000 10,000 10,000
O 2l 20,000,000& 20,000
[ 18,000
Ea 2,000
03 Al 2CHYI 5,000 5,000 0
O 20l 5,000,000& 5,000
= 4,500
[Ea 500
g8 ZotAEE &4 % 22 2,256,000 3,014,000 AT758,000
= 2,022,000
= 234,000
g8l ZotAER &Y 154,000 464,000 A310,000
348l ZotAER &Y 14,000 314,000 A.300,000
201 Ler23| 10,000 10,000 0
01 At2teltl 10,000 10,000 0
O get=2g| 2,000,000 2,000
O 3l ZotAtlz 8228 7
3,500,000& 3,500
O XNSDHZAIY 2t ME2 0, M A
2HRLY S 4,500, 0002 4,500
202 04| 4,000 4,000
01 =LHAHI 4,000 4,000
O dgdl ZotAEE gFFA 0|
4,000,000 4,000
ZotAELZ FHOIS FHIAE 140,000 150,000 10,000
401 AlZHIZ SO 140,000 150,000 10,000
01 AlZ28| 140,000 150,000 10,000




S ALEAID
M ZYN ZOIAEE &4 ¥ 2l
Col HUA 2BALES X4 (12l M2
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
O ZOHAEIE A=K ZHIAL
50,000,000& 50,000
O & JILHtE s&8 ZE3SA
25,000,000 25,000
O ot HIS0ts A XA
25,000,000 25,000
O &t SHOtS ot JHISA
20,000,000& 20,000
O 2023 ZotAELE Y FHOIS FHIAY
SEANEHES 20,000,000 20,000
ISR AL (2H]) 2,102,000 2,550,000 448,000
= 2,022,000
T 80,000
EQANE Mgu (M) HLAL(Z2/2S) 2,022,000 1,400,000 622,000
s 2,022,000
401 AlZHIZ SO 2,022,000 1,400,000 622,000
[ 2,022,000
01 Al&H| 2,022,000 1,397,500 624,500
O EQNE JYN(KILR) HEAY(SF
=) 2,022,000
[ 2,022,000
g8 EQANE N2 ZHIAY 80,000 80,000
401 Al HIZ 2018 80,000 80,000
01 Al&H| 80,000 80,000
O 8 EQAE NZE= FHIAI
80,000,000 80,000
HY2EGHI(AEZAID) 261,730 243,760 17,970
= 108,000
= 153,730
=34 153,730 148,760 4,970
JlEddl / AT 60,440 58,160 2,280
201 er2 3| 47,400 45,000 2,400
01 AtR2telHl 42,000 40,000 2,000
O det=ZH| 35,000,000 35,000
(OR=11:] 7,000,000& 7,000
2 S22l 5,400 5,000 400
O =322 & HAl 450,000 123 5,400
202 04l 8,000 8,000
01 2LHoIH 8,000 8,000
PR OHI(2tUH) 8,000,000& 8,000
203 gR=2| 5,040 5,160 A120
M A2 LIFLI 5,040 5,160 A120
O RAEY g4I
420,000« 1 A+ 128 5,040
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FA HEEAID
M HYRAZH(ALZAIL)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JlEgtl /| E2AIE 20,250 18,500 1,750
201 er23 | 14,250 12,500 1,750
01 At2teltl 14,250 12,500 1,750
O «et+=EH| 6,500,000& 6,500
O =gt 6,000,000 6,000
O &2aeldo3 ?I =%
70,0002 x5 +53] 1,750
202 04l 6,000 6,000
01 2LHoIH 6,000 6,000
O RN 0l 6,000,000& 6,000
JlEdHl [ SAIHA 28,280 28,200 80
201 er2 3| 18,200 18,200 0
01 AtR2t2|HI 18,200 18,200 0
O get=EH| 14,200,000 14,200
OR=11:] 4,000,000 4,000
202 04| 10,080 10,000 80
01 =LHO LI 10,080 10,000 80
O Y22 ol
20,0002 6 +73|* 122 10,080
JlEddl / sgolet 20,000 19,200 800
201 er2 3| 12,000 11,200 800
01 AtR2telHl 12,000 11,200 800
O det=ZH| 8,000,000& 8,000
(OR=11:] 4,000,000 4,000
202 04| 8,000 8,000
01 =LHO LI 8,000 8,000
O g4 ol 8,000,000 8,000
JlEddl / Reong 24,760 24,700 60
201 er23 | 18,760 18,700 60
01 At2teltl 15,760 15,700 60
O «et=EH| 10,000,000 10,000
O Sl 8,000 x3&»240& 5,760
02 s3=gHl 3,000 3,000 0
O 3325 € Al 3,000,000 3,000
202 04| 6,000 6,000
01 SLHoIH 6,000 6,000
O RFE oddl(2LH) 6.,000,000& 6,000
el 2| 108,000 95,000 13,000
= 108,000
elA2EH (=2 &) (<Hl) 108,000 95,000 13,000
< 108,000
101 @1A4H| 108,000 95,000 13,000
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